

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 16, 2025

Progress Estimate Number 4	Contract ID Prime Contra		15-H02 Paving Co.	Pay Period Pay Period		October 1, 2025 October 15, 2025	Original Contract Amount Net Change Order Amount Current Contract Amount	\$2,653,959.40 \$0.00 \$2,653,959.40
Approval Date								By User
October 16, 2025			General	ted and Approv	/ed (and s	hould be considered	d Draft) at the Project Office Level by	olivem2
October 16, 2025			Reviewed a	nd Approved (a	and should	l be considered Dra	ft) at the Resident Engineer Level by	stottt1
October 20, 2025				Reviev	wed and A	pproved at the Cen	tral Office Controllers Office Level by	ramses1
Original Completion	on Date	Current C	ompletion Da	ite A	ctual Con	npletion Date	% of Current Contract Amoun	nt Complete
November 1, 2	025	Novem	nber 1, 2025				97.61%	
	Co	ntract Informa	tional Dates				Milestones	
Date Description	Original Cor	mpletion Date	Current Cor	mpletion Date		No Milest	ones Exist for Contract	
Acceptance Date								
Awarded Date	December 4,	, 2024	December 4	, 2024				
Letting Date	November 15	5, 2024	November 1	5, 2024				
Notice to Proceed Date	January 6, 20	025	January 6, 2	025				
Work Began Date								

Contract Total Pa	ay For Estimate No. 4			
		This Estimate	Previous	To Date
241115-H02				
	Total Posted Items Pay	\$78,926.75	\$2,511,584.77	\$2,590,511.52
	Gross Item Adjustments	(\$25,869.55)	(\$179,501.75)	(\$205,371.30)
	Incentive	\$0.00	\$0.00	\$0.00
	Disincentive	\$0.00	\$0.00	\$0.00
	Liquidated Damage	\$0.00	\$0.00	\$0.00
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00
	•		\$2,332,083.02	\$2,385,140.22
Contract Total Pa	avable This Estimate:	\$53.057.20		

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3667	0060	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	TONS	\$49.000	785.010	\$38,465.49
	0170	6161005	CONSTRUCTION SIGNS	SQFT	\$6.500	108	\$702.00
	0180	6161025	CHANNELIZER (TRIM-LINE)	EA	\$5.000	26	\$130.00
	0200	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	EA	\$6,000.000	1	\$6,000.00
	0270	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	LF	\$10.000	25	\$250.00
	0330	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$6.330	236.630	\$1,497.87
	0350	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	STA	\$10.500	569.180	\$5,976.39
	0560	7034600	CURB BLOCKOUT	LF	\$165.000	157	\$25,905.00
Project J9F	23667 - Tot	al					\$78,926.75

Overall - Total \$78,926.75

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item /	Adjust	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3667	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material			-57	\$20.00	(\$1,140.00)
	0050	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.	57	\$20.00	\$1,140.00
	0060	MISC.	Overrun			-527.95000	\$49.00	(\$25,869.55)
	0090	MISC.	Material			-2,193.07000	\$80.70	(\$176,980.75)

Revision 10/17/2025 Page 1 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 16, 2025

Prog Estimate	gress e Num 4	Contract ID ber Prime Contractor	241115-H02 Apex Paving 0		Period Start Period End	October 1, 2025 October 15, 2025	Net Char	Contract Amounge Order Amo Contract Amou	unt	\$2,653,959.40 \$0.00 \$2,653,959.40
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type		Comments		Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J9P3667	0090	MISC.	Material		generated M Adjustment (overridding F	ent offsets the original aterial Payment Estim 0003) due to user olive Payment Estimate Exce Payment Estimate.	ate Item em2	2,193.07000	\$80.70	\$176,980.75
	0270	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	Material					-25	\$10.00	(\$250.00)
	0270	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	Material		generated M Adjustment (overridding F	ent offsets the original aterial Payment Estima 0004) due to user olive Payment Estimate Exce Payment Estimate.	ate Item em2	25	\$10.00	\$250.00
	0560	CURB BLOCKOUT	Material					-157	\$165.00	(\$25,905.00)
	0560	CURB BLOCKOUT	Material		generated M Adjustment (overridding F	ent offsets the original aterial Payment Estima 0005) due to user olive Payment Estimate Exce Payment Estimate.	ate Item em2	157	\$165.00	\$25,905.00
Total					1					(\$25,869.55)

Revision 10/17/2025 Page 2 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informat	ion
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9P3667	FAF 62-1 (31)	Resurface	62	DUNKLIN	from Arkansas State line t	o Route 53 and from Route 5	3 to Route 25 near Campbell
Totals b	y Job N	umbers					
J9P3667		ed Item Pay s Item Adjustn		s Item Pay	This Estimate \$78,926.75 (\$25,869.55) \$53,057.20	Previous \$2,511,584.77 (\$179,501.75) \$2,332,083.02	To Date \$2,590,511.52 (\$205,371.30) \$2,385,140.22
	Liquid	tive centive dated Damage Contract Adji		5	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 5/29/2025 Page 3 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 3040506, Project Item Line Number 0050, Material Set 304050696, Material 0304SBT15KP - Compacted Type 1 & 5 Base, Acceptance Action Generic 0304SBT15KP is insufficient.	olivem2- Materials testing results yet to be entered.	olivem2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 4029910, Project Item Line Number 0090, Material Set 4029910, Material 1007T1ABLDT5 - Agg Base Type 1 & 5 Limestone/Dolomite, Acceptance Action Generic 1007T1ABLDT5 is insufficient.	olivem2- Materials testing results yet to be entered.	olivem2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 6205309, Project Item Line Number 0270, Material Set 620530996, Material 1048PMRPMTWH - Marking Tape Removable White, Acceptance Action Generic 1048PMRPMTWH is insufficient.	olivem2- Material Certifications requested from the contractor.	olivem2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 7034600, Project Item Line Number 0560, Material Set 703460096, Material 1053CSSIL - Concrete Sealer (CS) - Silane @, Acceptance Action Generic 1053CSSIL is insufficient.	olivem2- Awaiting cylinder breaks.	olivem2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 7034600, Project Item Line Number 0560, Material Set 703460096, Material 1055CMMLDST1D - Clear Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST1D is insufficient.	olivem2- Material Certifications requested from the contractor.	olivem2	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3667, Item 7034600, Project Item Line Number 0560, Material Set 703460096, Material 1039ERRAS - Epoxy Bonding Agent-Resin Anchor Systems, Acceptance Action Generic 1039ERRAS is insufficient.	olivem2- Material Certifications requested from the contractor.	olivem2	Overridden
Estimate Exception Type: Item Overrun: Contract 241115-H02, Contract Project J9P3667, Project Item Line Number 0060, Contract Line Item Number 0060, Item 3049910, Minor Item.	olivem2- Change Order to be processed.	olivem2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-H02, Contract Project J9P3667, Project Item Line Number 0090, Contract Line Item Number 0090, Item 4029910, Minor Item.	olivem2- Change Order to be processed.	olivem2	Acknowledged
Estimate Exception Type: Item Overrun: Contract 241115-H02, Contract Project J9P3667, Project Item Line Number 0080, Contract Line Item Number 0080, Item 4011211, Minor Item.	olivem2- Change Order to be processed.	olivem2	Acknowledged

Revision 5/29/2025 Page 4 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

act Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTE To Date (See repo generated date)
5- J9P366	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.25	\$10,500.00	\$2,625.
	0001	0020	2063000	CLASS 3 EXCAVATION	90.00	0.00	90.00	CUYD	90.00	\$20.00	\$1,800.
	0001	0030	2129900	MISC.SHOULDER GRADING	420.00	0.00	420.00	100F	420.00	\$97.00	\$40,740
	0001	0040	2152000A	SHAPING SLOPES, CLASS II	2.00	0.00	2.00	100F	0.00	\$1,850.00	\$0.
	0001	0050	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	57.00	0.00	57.00	SQYD	57.00	\$20.00	\$1,140.
	0001	0060	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	899.60	0.00	899.60	TONS	1,427.55	\$49.00	\$69,949.
	0001	0070	3105002	GRAVEL (A) OR CRUSHED STONE (B)	93.00	0.00	93.00	TONS	0.00	\$49.00	\$0.
	0001	0080	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	20,137.80	0.00	20,137.80	TONS	22,373.32	\$86.50	\$1,935,292
	0001	0090	4029910	MISC.OPTIONAL SHOULDER BASE	2,142.40	0.00	2,142.40	TONS	2,193.07	\$80.70	\$176,980
	0001	0100	4071005	TACK COAT	17,843.00	0.00	17,843.00	GAL	15,275.00	\$3.15	\$48,116
	0001	0110	4091048	EMULSIFIED ASPHALT, SEAL COAT	207.00	0.00	207.00	GAL	0.00	\$12.00	\$0
	0001	0120	4094021	SEAL COAT AGGREGATE, GRADE C	690.00	0.00	690.00	SQYD	0.00	\$9.00	\$0
	0001	0130	6083003	3 IN. CONCRETE MEDIAN STRIP	31.60	0.00	31.60	SQYD	0.00	\$170.00	\$0
	0001	0140	6122012	IMPACT ATTENUATOR 55 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	0.00	\$5,000.00	\$0
	0001	0150	6122020	REPLACEMENT SAND BARREL	2.00	0.00	2.00	EA	0.00	\$250.00	\$0
	0001	0160	6122030	IMPACT ATTENUATOR (RELOCATION)	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0
	0001	0170	6161005	CONSTRUCTION SIGNS	2.168.00	0.00	2.168.00	SQFT	579.25	\$6.50	\$3,765
	0001	0180	6161025	CHANNELIZER (TRIM-LINE)	150.00	0.00	150.00	EA	26.00	\$5.00	\$130
	0001	0190	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$2,500.00	\$5,00
	0001	0200	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	1.00	0.00	1.00	EA	1.00	\$6,000.00	\$6,00
	0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$183,000.00	\$183,00
	0001	0220	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	2.00	0.00	2.00	EA	0.00	\$600.00	\$1
	0001	0230	6200009	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 6 IN. WHITE	56.00	0.00	56.00	LF	0.00	\$10.00	\$
	0001	0240	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	42.00	0.00	42.00	LF	0.00	\$35.00	\$
	0001	0250	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	686.00	0.00	686.00	LF	0.00	\$3.00	\$
	0001	0260	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	2,000.00	0.00	2,000.00	LF	0.00	\$3.00	\$
	0001	0270	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN., WHITE	25.00	0.00	25.00	LF	25.00	\$10.00	\$25
	0001	0280	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	106,235.00	0.00	106,235.00	LF	0.00	\$0.14	\$
	0001	0290	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	60,384.00	0.00	60,384.00	LF	0.00	\$0.14	\$
	0001	0300	6207001	PAVEMENT MARKING REMOVAL	3,121.00	0.00	3,121.00	LF	0.00	\$1.50	\$
	0001	0310	6209902	MISC.ACCESSIBLE PARKING SYMBOL - WHITE ON BLUE	4.00	0.00	4.00	EA	0.00	\$500.00	\$
	0001	0320	6209903 6221001	MISC.PAVEMENT MARKING BLUE WATERBORNE COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	80.00 11,032.00	0.00	80.00 11,032.00	SQYD	10,062.00	\$10.00 \$6.33	\$63,69
	0001	0340	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	4,034.00	0.00	4,034.00	SQYD	2,354.72	\$3.90	\$9,18
	0001	0350	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	929.70	0.00	929.70	STA	929.70	\$10.50	\$9,76
	0001	0360		30 IN. PIPE GROUP B	49.00	0.00	49.00	LF	49.00	\$210.00	\$10,29
	0001	0370	7320030A	30 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$1,650.00	\$3,30
	0001	0380	8025006	MULCHING	14.60	0.00	14.60	ACRE	0.00	\$1,550.00	\$
	0001	0390	8051000A	SEEDING - COOL SEASON GRASSES	9.70	0.00	9.70	ACRE	0.00	\$2,200.00	\$
	0001	0400	8061005	ROCK DITCH CHECK	540.00	0.00	540.00	LF	0.00	\$15.50	\$
	0001	0410	8061006	ALTERNATE DITCH CHECK	120.00	0.00	120.00	LF	0.00	\$12.00	\$
	0001	0420	8061016	SEDIMENT REMOVAL	65.00	0.00	65.00	CUYD	0.00	\$5.00	\$
	0001	0430	8061017	TEMPORARY SEEDING	4.90	0.00	4.90	ACRE	0.00	\$650.00	3
	0001	0440	8061019	SILT FENCE	1,000.00	0.00	1,000.00	LF	0.00	\$4.90	\$
	0010	0450	6061060	MGS GUARDRAIL	75.00	0.00	75.00	LF	37.50	\$35.00	\$1,31
	0010	0460	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	4.00	0.00	4.00	EA	1.00	\$4,000.00	\$4,00
	0010	0470	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	2.00	\$3,500.00	\$7,00
	0040	0480	9031210	STRUCTURAL STEEL POSTS	150.00	0.00	150.00	LB	0.00	\$15.00	\$
	0040	0490	9031260	WOOD POST, 4 IN. BY 4 IN.	96.00	0.00	96.00	LF	0.00	\$27.75	\$
	0040	0500	9031270A	2 IN. PSST POST - 12 GA.	509.00	0.00	509.00	LF	0.00	\$25.00	\$
	0040	0510	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	45.00	0.00	45.00	EA	0.00	\$150.00	\$
	0040	0520	9031280	2.5 IN. PSST POST - 12 GA.	98.00	0.00	98.00	LF	0.00	\$25.00	\$
				·	20.00	2.00	20.00		0.00	0.00	Ψ

Revision 5/29/2025 Page 5 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
241115-	J9P3667	0040	0540	9035004A	SH-FLAT SHEET	322.00	0.00	322.00	SQFT	0.00	\$25.00	\$0.00
H02		0040	0550	9035069A	SHF-FLAT SHEET FLUORESCENT	128.00	0.00	128.00	SQFT	0.00	\$30.00	\$0.00
		0070	0560	7034600	CURB BLOCKOUT	314.00	0.00	314.00	LF	157.00	\$165.00	\$25,905.00
	Project J	P3667 - To	tal Value	Posted to D	ate as of Report Generated Date							\$2,609,234.47
241115-H	02 Overall	- Total Va	lue Poste	d to Date as	of Report Generated Date							\$2,609,234.47

Revision 5/29/2025 Page 6 of 10



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3667

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0060	3049910	MISC. AGGREGATE FOR BASE	10/1/25	10/9/25	1	785.01	TONS	East half of project from 53 to 25	5.428		10.84		
0170	6161005	CONSTRUCTION SIGNS	10/3/25	10/9/25	1	16.00	SQFT	Road Work Ahead East bound at Br. A2561 curb blockout lane drop	6.948	RT			
				10/9/25	2	16.00	SQFT	Road Work Ahead West bound at Br. A2561 curb blockout lane drop	7.624	LT			
				10/9/25	3	16.00	SQFT	One Lane Road Ahead East bound at Br. A2561 curb blockout lane drop	7.048	RT			
				10/9/25	4	16.00	SQFT	One Lane Road Ahead West bound at Br. A2561 curb blockout lane drop	7.526	LT			
				10/9/25	5	16.00	SQFT	Signal sign East bound at Br. A2561 curb blockout lane drop	7.141	RT			
				10/9/25	6	16.00	SQFT	Signal sign West bound at Br. A2561 curb blockout lane drop	7.436	LT			
				10/9/25	7	6.00	SQFT	Stop Here on Red with arrow East bound at Br. A2561 curb blockout lane drop	7.23	RT			
				10/9/25	8	6.00	SQFT	Stop Here on Red with arrow West bound at Br. A2561 curb blockout lane drop	7.357	RT			
0180	6161025	CHANNELIZER (TRIM-LINE)	10/3/25	10/9/25	1	26.00	EA	Channelizers for lane drop at Br. A2561 for curb blockouts					
0200	6162000A	WORK ZONE TRAFFIC SIGNAL SYSTEM	10/3/25	10/9/25	1	1.00	EA	East bound at 7.141 R West bound at 7.436 L					
0270	6205309	TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	10/3/25	10/9/25	1	12.50	LF	Stop Bar on West end of lane drop for curb blockouts on Br. A2561	7.23	RT			
				10/9/25	2	12.50	LF	Stop Bar on East end of lane drop for curb blockouts on Br. A2561	7.357	LT			
0330	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	10/3/25	10/9/25	1	235.90	SQYD	Milling at Railroad crossing at Route B intersection performed 9/30	3.634	RT			
				10/9/25	2	0.73	SQYD	Rounding					
0350	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	10/3/25	10/9/25	1	194.83	STA		5.428	LT&RT	7.273		
				10/9/25	2	374.35	STA		7.295	LT&RT	10.84		
0560	7034600	CURB BLOCKOUT	10/14/25	10/16/25	1	157.00	LF	South Barrier curb blockout on Br. A2561		RT			

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 7 of 10



Line Item Adjustments by Estimate

Contract ID: 241115-H02

roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3667	0050	TYPE 5 AGGREGATE	Material		3	Oct 2, 2025	SYSTEM	(\$1,140.00)	
		FOR BASE (6 IN. THICK)			3	Oct 2, 2025	SYSTEM	\$1,140.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Oct 16, 2025	SYSTEM	(\$1,140.00)	
					4	Oct 16, 2025	SYSTEM	\$1,140.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0050 -							\$0.00	
	0060	MISC. AGGREGATE FOR BASE	Overrun	Overrun	4	Oct 16, 2025	SYSTEM	(\$25,869.55)	
		. 6.(5/162		Overrun - T	otal			(\$25,869.55)	
			Overrun - T	otal				(\$25,869.55)	
	0060 -				0		0)/0===	(\$25,869.55)	
	0800	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	Material		2	Sep 16, 2025	SYSTEM	(\$125,058.24)	
					2	Sep 16, 2025	SYSTEM	\$125,058.24	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					3	Oct 2, 2025	SYSTEM	(\$1,070,292.18)	
					3	Oct 2, 2025	SYSTEM	\$1,070,292.18	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To					\$0.00	
			Other Item Adjustment	ACAD	2	Sep 16, 2025	olivem2	\$8,469.86	AC adjustment for 11445.76 tons installed of BP-2 25-70 this period (9/2-9/15)
					3	Oct 2, 2025	olivem2	\$8,086.39	10,927.56 Tons of BP-2 25-70 laid this period.
				ACAD - Tota	al			\$16,556.25	
			Other Item	Adjustment -				\$16,556.25	
			Overrun	Overrun	3	Oct 2, 2025	SYSTEM	(\$193,372.49)	
			0	Overrun - T	otal			(\$193,372.49)	
	0000	Tatal	Overrun - T	otal				(\$193,372.49)	
	0080 -	MISC.	Material		2	Sep 16	SYSTEM	(\$176,816.24) (\$176,980.75)	
	0000	BITUMINOUS PAVEMENT	matorial		2	2025 Sep 16,	SYSTEM	\$176,980.75	This adjustment offsets the original system-generated Material Payment
		(SURF. LEVEL)			_	2025	01012	ψσ,σσσσ	Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
					3	Oct 2, 2025	SYSTEM	(\$176,980.75)	
					3	Oct 2, 2025	SYSTEM	\$176,980.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					4	Oct 16, 2025	SYSTEM	(\$176,980.75)	
					4	Oct 16, 2025	SYSTEM	\$176,980.75	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
			Other Item Adjustment	ACAD	2	Sep 16, 2025	olivem2	\$1,403.56	AC adjustment for 2193.07 tons installed of BB 25-26 this period (9/2-9/15)
				ACAD - Tota	al			\$1,403.56	





Line Item Adjustments by Estimate

Contract ID: 241115-H02

	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3667	0090	MISC.	Other Item	Adjustment -	Total			\$1,403.56	
		BITUMINOUS PAVEMENT (SURF. LEVEL)	Overrun	Overrun	2	Sep 16, 2025	SYSTEM	(\$4,089.07)	
				Overrun - T	otal			(\$4,089.07)	
			Overrun - T	otal				(\$4,089.07)	
	0090 -	- Total						(\$2,685.51)	
	0170	CONSTRUCTION SIGNS	Material		1	Sep 2, 2025	SYSTEM	(\$1,378.00)	
					1	Sep 2, 2025	SYSTEM	\$1,378.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user olivem2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0170 -	- Total						\$0.00	
	0190	CHANGEABLE MESSAGE SIGN WITHOUT	Material		1	Sep 2, 2025	SYSTEM	(\$5,000.00)	
		COMMUNICATION INTERFACE, CONTRACTOR			1	Sep 2, 2025	SYSTEM	\$5,000.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user olivem2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
		FURNISHED / RETAINED		- Total				\$0.00	
			Material - To	otal				\$0.00	
	0190 -	- Total	Material - To	otal				\$0.00 \$0.00	
		TEMPORARY REMOVABLE	Material - To	otal	4	Oct 16, 2025	SYSTEM		
		TEMPORARY		otal	4		SYSTEM SYSTEM	\$0.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate.
		TEMPORARY REMOVABLE MARKING TAPE,		otal - Total		2025 Oct 16,		\$0.00 (\$250.00)	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment
		TEMPORARY REMOVABLE MARKING TAPE,		- Total		2025 Oct 16,		\$0.00 (\$250.00) \$250.00	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment
		TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	Material	- Total		2025 Oct 16,		\$0.00 (\$250.00) \$250.00	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment
	0270	TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	Material	- Total		2025 Oct 16,		\$0.00 (\$250.00) \$250.00 \$0.00	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment
	0270	TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	Material Material - To	- Total	4	2025 Oct 16, 2025	SYSTEM	\$0.00 (\$250.00) \$250.00 \$0.00 \$0.00	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment
	0270	TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	Material Material - To	- Total	4	2025 Oct 16, 2025 Oct 16, 2025 Oct 16,	SYSTEM	\$0.00 (\$250.00) \$250.00 \$0.00 \$0.00 \$0.00 (\$25,905.00)	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user olivem2 overridding Payment
	0270	TEMPORARY REMOVABLE MARKING TAPE, 24 IN.	Material Material - To	- Total otal - Total	4	2025 Oct 16, 2025 Oct 16, 2025 Oct 16,	SYSTEM	\$0.00 (\$250.00) \$250.00 \$0.00 \$0.00 \$0.00 (\$25,905.00)	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user olivem2 overridding Payment
	0270	TEMPORARY REMOVABLE MARKING TAPE, 24 IN. - Total CURB BLOCKOUT	Material - To	- Total otal - Total	4	2025 Oct 16, 2025 Oct 16, 2025 Oct 16,	SYSTEM	\$0.00 (\$250.00) \$250.00 \$0.00 \$0.00 \$0.00 (\$25,905.00) \$25,905.00	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user olivem2 overridding Payment
J9P3667 -	0270 - 0270 - 0560 -	TEMPORARY REMOVABLE MARKING TAPE, 24 IN. - Total CURB BLOCKOUT	Material - To	- Total otal - Total	4	2025 Oct 16, 2025 Oct 16, 2025 Oct 16,	SYSTEM	\$0.00 (\$250.00) \$250.00 \$0.00 \$0.00 \$0.00 (\$25,905.00) \$25,905.00 \$0.00	Estimate Item Adjustment (0004) due to user olivem2 overridding Payment Estimate Exception 3 on the current Payment Estimate. This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user olivem2 overridding Payment

MoDOT

Contract Adjustments for Contract - 241115-H02

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 10 of 10